Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-III + EXAMINATION — SUMMER - 2014

Subject Code: 3335003 Date: 13-06-2014
Subject Name: Surveying and Leveling
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Define surveying. State and explain the principles of surveying.
(b) Differentiate between: i) Plane surveying and Geodetic surveying
i) Tie line and Base line.

Q.2 (& A 20m. chain was found to be 10cm. too long at the beginning and 30cm. too
short at the end of survey work. If distance measured by this 20m chain is
930m. Calculate correct distance.

(b) Give the names of various types of chain in common use. Draw a neat sketch
of 20 m metric chain showing all the parts.
OR
(b) Define representative fraction. Construct a diagonal scale with 1cm = 2.5m and
show 59.5mon it.

Q.3 (a) Distinguish between: i) Local attraction and Magnetic declination
if) Whole circle bearing and reduced bearing.
(b) Following bearing were taken from a prismatic compass for closed traverse
ABCDA. Correct them for local attraction. Apply necessary check.

Line F.B B.B

AB 1500 O’ 3300 30’
BC 28500 1040 30°
CD 20000’ 2000’
DA 35000’ 17000’

OR
Q.3 (a) i) Convert the following W.C.B into Q.B a) 40°30° b) 128°15’
i) Convert the following Q.B into W.C.B a) S35°30°W b) S25° 30’E
(b)  Write short note on i) closing error of traverse ii) Testing and adjustment of
chain

Q.4 (a) Explainin detail the characteristics of contour.
(b) The following consecutive readings were taken from a dumpy level -0.250,
0.570, 1.520, 2.540, 0.835, 1.350, 1.770, 2.345, 0.605, 1.270 & 2.750
The level was shifted after fourth and eighth reading. The first reading was
taken on B.M having R.L =51.00 m.
a) Rule out a page of level book and enter the reading.
b) Calculate reduced levels of all points by rise and fall method.
c) Apply usual check.
OR
Q.4 (a) Explainthe following terms: Axis of telescope, Line of sight, Back sight,
Bench mark, Change point, Reduced level, Level line
(b) Explain temporary adjustment of a level.

Q.5 (a) State and explain various types of obstacles encountered in chaining and
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ranging.

The following consecutive readings were taken with a dumpy level and 4m
leveling staff on continuously sloping ground at a common interval of 30m.
0.585 on A,0.936, 1.953, 2.846, 3.644, 3.938, 0.962, 1.035, 1.689, 2.534,
3.844, 0.962, 1.035, 1.689, 2.534, 3.844, 0.956, 1.579, 3.016 on B .The
elevation of A was 520.450

a) Prepare page of level book.
b) Calculate reduced levels of all points by rise and fall method.
c) Apply usual check.
d) Determine the gradient of line AB.
OR
Draw typical sketch of Prismatic compass. Label the parts.
i) State full forms of following abbreviations:
R.L,C.P,G.L, GT.S, D.P.C F.S
if) Give conventional sign / symbols for the following:
Railway line, Stone masonry, Wire fencing, R.C.C work, Temple, Electric
pole, Survey station, Gate
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